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QUESTION 1

Scenario: A Citrix Architect has configured NetScaler Gateway integration with a XenApp environment to provide access
to users from two domains: vendorlab.com and workslab.com. The Authentication method used is LDAP.

Which two steps are required to achieve Single Sign-on StoreFront using a single store? (Choose two.)
A. Configure Single sign-on domain in Session profile “userPrincipalName\\'.

B. Do NOT configure SSO Name attribute in LDAP Profile.

C. Do NOT configure sign-on domain in Session Profile.

D. Configure SSO Name attribute to “userPrincipalName\\' in LDAP Profile.

Correct Answer: BD

Reference: https://docs.citrix.com/en-us/storefront/3-12/plan/user-authentication.html

QUESTION 2

Scenario: A Citrix Architect needs to design a new NetScaler Gateway deployment to provide secure RDP access to
backend Windows machines.

Click the Exhibit button to view additional requirements collected by the architect during the design discussions.

Connections that should recerve full VPN * User should be 2 member of the

access “Executives” group.

» (Connections should be using the
MNetScaler Gateway Plugin.

* (Connections can come from any [P

address source.

To meet the customer requirements, the architect should deploy the RDP proxy through , using a
solution. (Choose the correct option to complete the sentence.)

A. ICAProxy, stateless gateway
B. CVPN; single gateway

C. CVPN; stateless gateway

D. ICAProxy; single gateway

Correct Answer: B
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QUESTION 3

Scenario: A Citrix Architect needs to configure a full VPN session profile to meet the following requirements:
1.

Users should be able to send the traffic only for the allowed networks through the VPN tunnel.

2.

Only the DNS requests ending with the configured DNS suffix workspacelab.com must be sent to NetScaler Gateway.
3.

If the DNS query does NOT contain a domain name, then DNS requests must be sent to NetScaler gateway.
Which settings will meet these requirements?

A. Split Tunnel to OFF, Split DNS Both

B. Split Tunnel to ON, Split DNS Local

C. Split Tunnel to OFF, Split DNS Remote

D. Split Tunnel to ON, Split DNS Remote

Correct Answer: B

QUESTION 4

Scenario: The following NetScaler environment requirements were discussed during a design meeting between a Citrix
Architect and the Workspacelab team:

1.

All traffic should be secured, and any traffic coming into HTTP should be redirected to HTTPS.
2.

Single Sign-on should be created for Microsoft Outlook web access (OWA).

3.

NetScaler should recognize Uniform Resource Identifier (URI) and close the session to NetScaler when users hit the
Logoff button in Microsoft Outlook web access.

4,

Users should be able to authenticate using user principal name (UPN).

5.

The Layer 7 monitor should be configured to monitor the Microsoft Outlook web access servers and the

monitor probes must be sent on SSL.

1Y0-440 PDF Dumps | 1Y0-440 Practice Test | 1Y0-440 Exam Questions 3/5


https://www.passapply.com/1y0-440.html
https://www.passapply.com/1y0-440.html
https://www.passapply.com/1y0-440.html

VCE & PDF https://www.passapply.com/1y0-440.html
2024 Latest passapply 1Y0-440 PDF and VCE dumps Download

PassApply.com

Which method can the architect use to redirect the user accessing https://mail.citrix.com to https:// mail.citrix.com?

A. add responder action act redirect “https://mail.citrix.com” -responseStatusCode 302 add responder policy pol
HTTP.REQ.IS_VALID act

B. add Ib server test SSL 10.107.149.243.80 -persistenceType NONE -cltTimeout 180 -redirectFromPort 80
-httpsRedirectUrl https://mail.citrix.com

C. add Ib server test SSL 10.107.149.243.443 -persistenceType NONE -cltTimeout 180 -redirectFromPort 80
-httpsRedirectUrl https://mail.citrix.com

D. add responder action act redirect “\https:/\ + HTTP REQ.HOSTNAME.HTTP_URL_SAFE +
HTTP.REQ.URL_PATH_AND_QUERY.HTTP_URL_SAFE\n\n" -responseStatusCode 302 add responder policy pol
HTTP.REQ.IS_VALID act

Correct Answer: C

QUESTION 5

Scenario: A Citrix Architect needs to assess an existing NetScaler multi-site deployment. The deployment is using
Global Server Load Balancing (GSLB) configured in a parent-child configuration.

Click the Exhibit button to view the diagram of the current GSLB configuration and parent-child relationships, as well as
the status of the sites and the connectivity between them.
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Backup parent sites

SiteP1 backup parents — SiteP2 (higher preference) and Site P3
SiteP2 backup parents — SiteP3 (higher preference) and Site P1
SiteP3 backup parents — SiteP1 (higher preference) and Site P2

MEP
l (DOWN) l
. MEP ; MEF .
SiteP1 SiteP2 SiteP3
- e

(UP) (UP) (UP)
MEPI{DDWN} MEP I (UP) MEP I (UP)
Child_site1 Child_site1 Child_site1

(UP) (UP) (UP)

Based on the displayed configuration and status, Chil_sitel a connection from . (Choose the correct

option to complete the sentence.)

A. rejects; SiteP2 and SiteP3; remains a child site of SiteP1

B. rejects; SiteP3; remains a child site of SiteP1

C. accepts; SiteP3; becomes its child site

D. accepts; SiteP2; becomes its child site

E. does NOT receive; SiteP2 and SiteP3; remains a child site of SiteP1
F. rejects; SiteP2; remains a child site of SiteP1

Correct Answer: E
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